Firgelli Automations Inc
www. FirgelliAuto.com

Model: FA-WM-28" Full Motion Wall Mount

Thank you a choosing the Firgelli Auto wall moufihis mount is for TV’s weighing less than 45 K@Q Ib) to a vertical wall, and witilt
+15°,swivel angle :£70°



A CAUTION: Do not use this product for any purpose not explispecified by Firgelli Automations. Impropersiallation may cause
property damage or personal injury. If you do notderstand these directions or have doubts abougatety of the installation, contact Firgelli

Automations. Firgelli Automations is not liable fdamage or injury caused by incorrect mountingeaésy, or use.

A WARNING! This product contains small items that could behaking hazard if swallowed. Keep these items aWaygn young

children!

Hardware and procedures for multiple mounting igurhtions are included. When you see this synmdiwpse the correct configuration to
suit your needs. Not all hardware included willused.

: (3M16in) & (1/2in)

Supplied Partsand Hardware
Before starting assembly, verify all parts are ideld and undamaged. If any parts are missing oadadh do not return the item to your dealer;

contact Firgelli Automations.

Ax1




Cx6 Ex4 Gx4 Ix4
(i
=, Ry €

M8X30

M6X25

Dx6 Fx4 ~. Hx4 x4

M8X15 M6X15

Wood Sud M ounting
NOTE \Verify stud location.

ACAUTION: Do not over-tighten the lag bolts [D]. Tighten 1ag bolts [D]
only until the washers [D] are pulled against tredl\plate [A].

ACAUTI ON: Any material covering the wall must not exceeda (2/5 in.).

@ HEAVY! You may need assistance with this step.

» If attachingthe TV Mount to the Firgelli Automations TV Lift mechanism, see below for how to
install that. Use 4 x M6 screws and nutsto attach

()

Lo e e Y B e

s [ e e e e o B i e

O 0000000 0000000

/



e |f attaching mount directly to the wall use the instructions below.

Use av to veriy siud lecation Marxing a ling with & peneil
ar- -—
~_ ~_
o

Inserling the screws
Varking the Toction and ligaien
for screw

> 60 mm

Concrete Block M ounting
A CAUTION: For concrete block walls, install the fastenats the face of the block. Ensure the anchorsfiesit with the block.
ACAUTION: Do not over-tighten the lag bolts [D]. Tighten tlag bolts [D] only until the washers [D] are pullagainst the wall plate
[A].
A CAUTION: Any material covering the wall must not exceedhi@ (2/5 in.).

A @ HEAVY! You may need assistance with this step.



Mak ng 2 rark wilh

==

astinel Locasion |

Fircing the

lrsecticg he screws i ) TI’ISE‘I‘t l ng Lhe
e ighter 6X)D p'l asiic anchor (6 X) C

TV with flat back
Determine the diameter of the screw your TV recuig hand threading
them into the threaded insert on the back of theSkdp immediately if you

encounter any resistance.

@ HEAVY! You will need assistance with this step.

Note:this open
mouth is up

Note:the handle
is outward

@GX)H (1) 4X)F @




Turning and tighten the screw

TV with curved back or obstruction near threaded insert
Determine the diameter of the screw your TV requig hand threading
them into the threaded insert on the back of theSkdp immediately if you

encounter any resistance.

@ HEAVY! You will need assistance with this step.

Note:this open
mouth is up

Note:the handle

R 4X)E o




Turning and tighten the screw

Firgelli Automations and its affiliated corporat®intend to make this manual accurate and compteteever, Firgelli Automations makes no
claim that the information contained herein covaisdetails, conditions, or variations. Nor doegiiovide for every possible contingency in
connection with the installation or use of this quwot. The information contained in this documensiject to change without notice or
obligation of any kind. Firgelli Automations makes representation of warranty, expressed or impliedarding the information contained

herein. Firgelli Automations assumes no respornsilior accuracy, completeness or sufficiency @& thformation contained in this document.



